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()18 1130
A H BH 4G HRF Alf B Ci DI Elf Fi G Hifm
8:00 1 2 3 4 5 6 7 8
TH12H 9:55 9 10 11 12 13 14 15 16
()18 1130
H H B AG IR Al Bl Cifn DI Elf Fifn G Hif
8:00 17 18 19 20 21 22 23 24
7TH23H 9:55 25 26 27 28 29 30 31 32
()18 ) 1130
H H B G IRER] Al B Cifn Dif Elf Fifn G Hif
8:00 33 34 35 36 37 38 39 40
7TH26H 9:55 KEMR | KEMK | 41 KEM | 42 43 44 45
()18 1130
H H BramreR | A Bifi CHi D E Fii Gl Hifi
8:00 46 47 KEM | 48 49 KEM | KEH | KEK
8SH2H 10:05 50 51 KR 52 53 KER | KEK | KEH
(v ek 5
A H BiAaRER | Am B Ci D
SH9M 8:00 54 KEM | KEMK [ 55
10:05 56 KEM | KEMK 57
(B ek 5
H H BH A IR ATl DA
:30
SH 150 8:3 58 59
(FEvmER T 5
H H B G IRER] ATl DA
8:30 60 | RiEEk
8H23
A23H 10:30 | #@k
TEH : 7TH18H. 25H (M)IFETF) 8H1H., 80 GR®E) . 10H. 150, 230 (Fay)




